Epi HW8 Grading Key [15 points]
17A.1) No points–key online.

17A.2) Cases had slightly greater average use (2.5 hours vs. 2.2 hours) and slightly greater duration of use (2.8 years vs. 2.7 years), raising some suspicion, but the odds ratio estimates are less than 1 for all tumor types except neuroepitheliomatous tumors, which has a very wide confidence interval (95% confidence for OR: 0.9 to 4.7). Are they materially different from the study described in Exercise 17A.1? No. Taken as a whole, this study and the prior study fail to support the hypothesis that recent cell phone use causes brain tumors. [3 points]
17A.3) No points–key online.

17A.4) Calculate the odds ratio: OR^ = (89)(3193) / [(640)(194)] = 2.29 … and its 95% confidence interval 95% CI for OR = e( 0.829  ± (1.96)(0.135) =e 0.829  ± 0.2646 = e(0.5644, 1.0936) = (1.76, 2.99) Interpret the results. IUD users have an infertility rate that is 2.29× that of non-users (a 129% increase in risk). We can say with 95% confidence (in the method) that the odds ratio parameter is between 1.76 and 2.99. [3 points]
17A.11ADE) Key provided online. [0]
17A.12 (A) Which method is preferable? Interviewer assessment. Explain your reasoning. Subjects may be more optimistic about their amount of hair than an impartial interviewer. (This is seen in the data--very few men self-assessed at the high level of baldness compared with interviewer assessment. In the interviewer-based assessment is more consistent, as well as being less subjective.) How could misclassification of baldness affect the results of the study? If the controls were more optimistic about their hair situation than cases, this could bias results away from the null.
(B) Calculate the odds ratios associated with each level of exposure. OR^1 = 1.00 (reference), OR^2 = 1.08, OR^3 = 1.59, OR^4 = 1.75, OR^5 = 3.07
(C) This table compares results using the two different methods. I see similar trends. 
	Baldness level  
	Self-assessed 
	Interviewer-Hamilton 

	1 
	1.0 (reference) 
	1.0 (reference) 

	2 
	1.0 
	1.1 

	3 
	1.4 
	1.6 

	4 
	1.9 
	1.8 

	5 
	2.6 (small sample) 
	3.1 (small sample) 


 17B.1) No points. Key online.
17.B.2) Calculate the odds ratio. Odds ratio = 17 / 5 = 3.40; Calculate a P: z = sqrt[(17 - 5)2 / (17 + 4)] = 2.56; P = 0.011; Is the constitutional hypothesis refuted? Yes, the odds of dying first was significantly higher in the smoking twin. 
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